Friday

Whrite the division number sentences represented in these pictures.
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Work out the answers to these questions:

a) 50==10 =5

b) A0 == 10 = 9

c) sixty <= 10 =06

d) forty divided by ten = L
e) 7 tens == | ten = 7

)
)

Fill in the missing numbers in these number sentences

a) 80 =10 =8
b) 100 == 10 = 10
)30 =+=3-10
d) 70== 10 =7
e) WO == 10 = L

)
)

| have 7Op in my pocket in O pence coins only. How many coins do | have? 7 coins.

b)Can you write the division number sentence for this word problem? /0=10=7

brahim said that 1O divided by | equals .
Do you agree? Explain your reasoning or draw a picture to prove your view.

| dLsagree because 1O shared between | person is IO as theg get the whole amount.

IO divided bg 1O would equa[ | when shared.




